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General Instructions:

The paper is divided into 3 parts:
1. Reading -5 M

2. Writing and Grammar- 10M
3. Literature - 15M

Section A:Reading (Sm)

I.  Read the text carefully and answer the questions:

_ As the family finally sets off from home after many arguments, there is a
moment of lull as the car takes off. “Alright, so where are we going for dinner
now?” asks the one at the driving wheel. What follows is a chaos, as multiple

voices make . as many suggestions.

a- By the time, order is restored and a decision is arrived at, tempers have risen,
feelings injured and there is at least one person grumbling.

- Twenty years ago, you would step out of home, decision of meal and venue
already made with no arguments or opposition and everybody looked
forward to the meal with equal enthusiasm. The decision was made by the

head of the family and the others fell in line. Today every member of the
family has a say in every decision which also promotes a sense of togetherness

and bonding.




4. We empower our kids to take their own decisions from a very early age. We
ask them the cuisine they prefer, the movie they want to see, the holiday they
wish to go on and the subjects they wish to study.

5+ 1t’s a closely connected world out there, where children consult and guide
cach other. A parent’s well-meaning advice can sound like nothing more
than unnecessary preaching. How then do we reach our children through all
the conflicting views and make the voice of reason be heard? Children today
question choices and prefer to go with the flow.

- What then is the best path to take? I would say the most important thing one
can do is to listen. Listen to your children and their silences. Ensure that you
keep some time aside for them, insist that they share their stories with you.
Step into their world. It is not as complicated as it sounds; just a daily half
an hour of the quality time would do the trick.

1. Twenty years ago, according to the passage, decisions were

a) unanimous, with no argument
b) made by the children

c) taken by the head of the family
d) not taken by elders

2. The passage concludes that in modern times, children are to
take their own decision from a very early age.

a) forbidden

b) trained

¢) not given permission
d) allowed

3. According to the passage, who said, “So, where are we going for
dinner”?

a) one of the passengers
b) .one of the guests

¢) narrator

d) one at the steering




411. What is the messa

2,

g¢ conveyed by this passage? Write any two points.

5. The writer
used word “hurt” i is the '
used in this paragraph? L e thurt(as )
VX926

Section B: Writing and Grammar (10m)

IL Fillin the blanks by choosing the correct option given below.

a), Pra;lchi. work hard as one week is left for her CA Final
Examination.

i). should ii). will iii). has to iv). May
b). He be seventeen next week.

i). should ii). will jiii). must iv). Could

¢). You practice for longer hours as it will make your voice grow
stronger.

i). must ii). would iii).can iv). May

d).Select the most appropriate form of passive voice:
1. Who gave you the money?

i) By whom was you given the money?

jii) By whom were you given the money?

iii) Who gave the money to you?

iv) Who was given money by you?

2.His friends are accusing him of theft.

i) He can be accused of theft by his friends.

3




ii) He is being accused of theft by his fricnds.
iii) He had been accused of theft by his friends.

iv) He was accused of theft by his friends.

III.  You are Kashish/Kailash, a strong believer in the theory that one must eat
healthy food to live well. However, you are disturbed that your friends are
junk food addicts. What is worse, are the advertisements that make eating
junk food practical, easier and cheaper by way of attractive dlscounts, hke
the one given below. Write an article for your school magazine ‘Awaz )
talking about the problems of unhealthy eating, leading to various body
disorders. Give a suitable heading to your article. (100-150 words) (5m)

Section C:Literature (15m)

IV. Read the given stanza and choose the option which is the most
appropriate for the questions that follow: (1x3=3m)

They, too, aware of sun and air and water,
Are fed by peaceful harvests, by war’s long winter starv’d.
Their hands are ours, and in their lines we read

A labour not different from our own.

1.'A labour not different from our own 'means:
a) Foreigners labour differently

b) They do labour as we do

¢) Forms of work is different

d) None of these.

1. What is the rhyming scheme of the given stanza?
a) aabb b)abab c)abcc d)Free verse




2. According o the poet James Kirkup, belongiag (o 8 @iflorcal cosniny
docsn’t make onc

a) Vieleat

b) Differemt

¢) Carefree

d) Indifferent

V. Amswer any TWO of the following in 40-50 wards. (hi=eM)

1. How did Maria's co-trainees at the tenmis scademy troable hor” How
did Maria cope with this?

2. What incidents during the Fyerest cxpedition show Santoh’s
concern for her team-mates”

1. What is the theme of the poens No men are Foreign’

V1. Answer the following in 100-120 words. (&M

A). Santosh decided to fight the systeom i her own quict may, says the
author, How did Santosh rebel but quietly *

OR
B) How has . Heary featured fricndehip ia the story, “The Last | oal™




e
x}u‘-‘\“ YiH Sop
P

0

Y

SINDHI HIGH SCHOOL K K Road BENGALURU
Il PERIODIC TEST 2023-24
Il LANGUAGE KANNADA

DATE 231123

CLASS 9

MARKS - 30
TIME -1Hour
No of printed sides-. '

\Reading time : 8-00 to 8-10am Writing time : 8-10 to 9-10am

| BYAR NG ona, LB @B 84t 83 has 83 nert euZoa) T0.

Qed R D) BRI Bedd Fedd 0BT, 0B WSO VF0SIT LITIW
DDBDOTP O et BBOOVITING. o) Z@wa 3,md3rierie wody 2.0 eTeIALY
Jed) Besrhdd. BEd 8 wBwe), BoBAL BIBT BIF, wOTHAT. ©TT &ob

Amaes FCENY SRS ADES. BerroN B0 FooFH) B0 VNS @emeNd. B
HomodNosee BYE. VAW auy B Seav Jnedh @é‘édaﬁ’d Qdoed), B30T

& QeoR), WRBIEAOT R 2LOEMOT VDI eI BBS T St 28,

Ihgmn Brerdges.

Z30R TR G vgiedn N Vo WYBRNBES. 5B, FTT@N T DOT-

Reomdde athded. 3,m08nw B vy O BRTRPDIBAVOT, BRTIRDE

|




—-r/—\"

TYRNW I, 20 Swontont Jedoen Feb3T. ede Bed IO DIV FosTB DY

925N HBBAOT YT, AW BTBER, FoTRZIHAT.

od eab BBO DI ;b8 BB RORY, BoTgRe 8ed Zinva 3ric 8%,

2R, RBUSAbTN I, TEFCMH TR, FodgRw BB seabrBoF YRy,
25001 Boued. B,2508 IRV VETRY, PVITD Wed3 B)d RTesHnY weds

BUR SRR, we ed INTAY BOIRT e D) BedTRNRY BweLd BV

So8gs euBens derled. Byohds BB B3I o 3 1Y RO wBF R,

308, SRS BV ToaY) HYTODT WRWD. RBVT Bepewen OB BB RYRY éfaw’-ﬁ

cdweert SOAIR) WOTF BramEs FUB ARTRY, VTR, BV I Beyrtvay
R ched & AR BEFanEs SRR dedbelmen wvRkied. B Bed, Aunvay

SBeD TToDTIeD). YD) BRAY 3EI0ITe PTIed. /T3 ahfad U9ed AMHIT.
B2 i - | s)
0 ) BoBZ3 Jedh BIBB BIF, WOTrHSTen FITENW.
0 DTS 9 TBBADFI ~
8 WeRTIDES ¥ 0LoB)Ed
9 Ak O Tk
0 IR B3T3 5 e B3B3
2 AR 333 v O 5333

2 30 DeZNY FUDTIB WY —--------- AoT VYR BezerH3ST.




1 "
=
a0
b |
B ”t
W
? N
" e 1
%]
0
|
4—.le
b
_.‘ .ﬂﬂ._
| ol
_.. *—_
DN
) |
s ]

i’

_u_
i
il

3

e

w

1)

b
N

)

("

It

&

"
&

il

(&Y}
D,
\m.— %
® T
J 18
m JﬂMﬂ
13
12
O]
I8
i
o
o3
‘m MJ
&: \d‘\Md
o
m >
1 W
- B
™
““K
)

»

alg

o8

2 3YNS DI, A aflates B33, wBOJ.

0 AR BRBoBD 0¥, B




V) 8YNR 2083~ cdred Boleents, wEOd
0 TR 8 BV, LOBD.

ATIC ovE B0 N BB) BB, 30,

0 oWEMRTY ISCRNY LIS ©TEBAS,

¥ 8YNR BEBRY Se8,BO WY

03 éci)cjdd)(ﬁo

?) 3YAR BBV ISremered BBNYRY, WBALO.

-

0 D83 9 IR
0) 39N BBS, Tomepray, wIO.

0 BDED

od

V) B9AR ZZ M a0 TEMVY 6VBBA -

0 Qeomed alred omweodd, FedB S)BeeNd? BT WS ety rieh odraey?

5 NZMRE BT B,Or Wy

V) BYNS D)Z7T Sweth-Doe, FegNYY tuZBdd.

0 earbgdrt Bomevad wif @A MRS e Bert F3rieoBu?ATOR.

Vi) 89AS BZ N 0-00 TBNYY ev30d.

0 Bt wORE BRIBT Beateann BeADLIS? IO,

(4)

£




SINDHI HIGH SCHOOL, KK ROAD
I11-PERIODIC TEST (2023-24)
SUBJECT- L2 HINDI

CLASS: 9 MAX-MARKS: 30
DATE: 23 .11.2023 READING TIME: 8.00 am to 8.10 am

No. of Sides: WRITING TIME: 8.10am to 9.10 am

Ay - ﬁuﬁ@aﬁiﬁaﬁwsﬁ@mmmwm;

1. uaﬁaﬁaﬂ@@ﬁﬁuﬁamwéaanwan
-3 @saﬂmﬁawmaﬁwﬁaw%u (3HT-5)
3 Wg @ T W NURAUHE | (3F-10)

4, mnﬁwmwwmﬁaw%i (3{a-10)
5 Wg ¥ H TEAES AE R AURA U g | (3F-5)

(ES-P)
ﬁaﬁlﬁaﬁmﬁwwwwmmﬁﬁmmﬁmm

'cﬁﬁnzl

a@ﬁmﬁmﬁﬁﬁw%aﬂ%m@meﬁyam

;aaa'wr{aas a‘\ﬁlmaﬁ 3R ISP I 36! D] IA

R Hear g1 ord; faana aﬂ%’qﬁa% ur-ﬂrsﬂa:f fomfor s} Taddr 3R

maen'—ﬁ%muﬁlaémw 1;% am:ﬁﬂgﬁﬁm:ﬁarr@%s
TR difp I




4. BET B IS T | 4T el A FMeT?
i) I XoiTa gl I RA e, (i) TSI TR gea Raffdl & aw #1783
gi)i)ua?ﬂsreﬂa:f e e (iv) ST Tl

5. 315 3 i Pion 1 e w U ¥ Faie el g veR & g 82

(i) TPl gRT (i) faem g1
(iii) AN gRT (iv) 3rd gRT
| (Es-9)
Il. SATHRUT & YR TR usl & o< fafe- 1X10 =10
1. SR R R T ARG 1 g B BifeT- _ 1
() Fafear (i) IFGN (i) HEA  (v) Sife™r
2. R R vl & ¥ 3fd RIF W & S aR I1dl Ieg Bifet- 1
(i) Sfora (i) FIReR (i) FaieA (iv) PR
3. T+ BT YR e BT- 1
(i) gy (i) TSR ERLEI (iv) TS
4. T IUH AR Tg Blean [T 1
(i) gHdT (i) §¥HIe (i) gHGH (iv) eI
5. {5y veg # Uy T MR- 1
(i) TR (ii) o (iii) SR (iv) TSHUA
6. TTHIC Xeg § $HH-9T VT W g3 22 1

(i) (if) @ (iii) 31T (iv) 99




7, e s ey B, gl g7 8 A o oy s Ot w4,

1

7
(i) ®9% (i) wyias (i) %.&fﬂlm (/) AT
7 i 7;707['7}3 w7 'I':f’dl =] A%, S ey 54 At i  AGE ] imapst Sy miintys
f')] ! (li) ' (it} | (!I,
9, 7w aga v A FA W B {n A ) ¢ oy v ¢ AV i wrm w1 T
(i) %1 | 48 gAY R A
(i) 78 &FA A1z @ il 4 781 1
(iii) 7% &%A AN cERA :rm
(iv) 4% a7 aGA AN R REIARA
10, wvu Bl B mmmﬁnumrmmd&mfmwnm 1
(i) 791 v BT 2
(ii) A7 ! wuzﬁ?v%s
(ify va Bfaet A ]
(iv) ¢ ﬁwﬁmm%t
@z
Prafefaa w4l & 3T e 6o wraa! A frf | 2%5=10
1, %@ﬁuﬁEW‘WW%@W?
2, wmmﬁﬁmﬂww%
3. aﬁ@mﬁ@ma’tma{ﬁmﬂwm@?
4. mmﬁauﬁmﬁﬁmﬁmﬁmﬁaﬁaﬁeé%?
5. aﬁwmﬁm%,aa’mmmm%r
(@s-9)
arrcr W%W@W&ﬁ%ﬂﬂﬁﬂ%ﬁaﬁm%mmaﬁ%l
aaﬂﬁfqmﬂgqamﬁmeﬁaﬁua 2.5
ﬁqﬁ:ﬂaﬁﬁmﬂ’maﬁ




SINDHI HIGH SCHOOL - K.K. ROAD, BANGALORE

PERIODIC TEST - 3

SUBJECT: 9¥pdHq

Max Marks : 30

TIME : 1hrs
READING TIME : 8:00 — 8:10am

CLASS : IX
DATE : 23/11/2023

NUMBER OF SIDES : 05
Writing Time: 8:10 — 9:10am

HTHTASRI: -
. T TRIT TRIaU] G A SR WA 05 BT TSt i< |
o WW@WWWWHWOSHW:Hﬁl
. TREEI U3 T AT AL I |

YR — '
qUS: P —  (SMUfS - AT 05 3TgT:
JqUe: @ - (TR - B 13 37T
Qug: M- (3IIGFIH - ATHR0H) 06 SfET:
Samr: - (Ufod - SfEEIYT) 06 SfET

(i) SR T3 FeaR: fawm: 9T |

(i) Ww&mmﬁrw@ﬂwﬁmaa@:ﬂmﬁ |

(nnmaquwqeramﬂaa@ﬂml

(avma‘mmnﬂmmﬁrﬁaﬁﬂaa@’—ﬂuﬁl

(v) gy e WWW |




m;—w-(m-MW)
| QTR W G AT QE: Wl AU | % el en iR | srrearer
yafvgsa: s mftgefa @ lmmmm;mm{mmﬁﬂaq@
a1 A el g awa: | @a) @ I W - UHRG: @ 9 ae | qeae A
fde: qerarany 7 fasn K | fadE: TETERTafa: afv 7 gadfar | fRde:
ewsaaTgl yafa , ufden 9 gdtaram |
3T - Py - iR ganort S1aryg YA ST Tenaw wrofid ad | s @
TaMh Fery FF: | §: weal BT HTH: T Hedod qrerafy | G: uRyH Fear @ad
afters 3, e, Wl 9 Jareafa | T R Ut 4ady: o | w1 gt g garfd |

?. UHUST IR | (Vax2=1)
3. T qgw 91 fe ?

3. H71 guftdyd g &gt 2

R. TPHATRA I R |

3. 37 Ryt ShTaTer e AU add 2

31, STCTER aHTa: HYH ST ?

3. gt fora |

3. TR TR THT AT 97 qelat — SR AR farshi e 2

31, faHT gaastar i | o febaruer fa 2 -
GUg: - G - (TS BRI ) (¥2x10=5)

I1. YA yaa: et TR wmeewt & el g diedt Prawfy | 9 sy
AT HRIYG U TRATAR TS SRaR HSS[WTAT: HeTaadr RITI

IR v fereg -
I

(1x2=2)

(1x2=2)

(i)

T it TRY
R - 110021




Qaman,

sl (ii) i

TR R e F

Tafyeeh

fa - 110001

fwa: - W U difven FErewau Seyfd #Romd -

gy,

(i) fFragmf aq 3 =R (iv)

g e gy 83 (v) | gd g STergfel: e

(vi) W | R g ofF Fawiiar: FrEeddl 7 Hafd | 3 Jd S
STRATHTATA (vii) R | 34a: 37 (viii) fragaf aq
WA FIAT B (ix) STl e BRI | WA 3 SMURY
YiasTy | quTareH |

i v fayrgusm
(%)

| oo - Hafd , Td: , 3Td: , TG HeIeaT: , HeNaur=< difd: :

111, R TegT HoS[UIAT: e Urara forad | (1x3=3)
e \> g i P i [ =1~

ooy -~ IR , 3, ST , Seed, eI, g8, T , S , S




IV, ST Srgarg oo | CEERE;) (1x5=5)
g Read the lesson aloud. TS 1 Ugah? TS |
R Pleasure of life is in Gﬂ'dqmgﬁmmﬁ% |
sacrifice.
3 Atma lives in the body. AP T IRR AT |
¥ | have many fruits. fﬁtrma@ﬁtm‘g |
W You all study carefully. . IH 99 I T Uel |
& You all write in pen. A 99 ®aq 9 fora |

GUs: - T - (TIYHI ATHIUH)
V. TSS[T ATETAA Sgfarty oo et foreer | @Gadiwamas)  (1x3=3)

[T - 9o, fod, afe:, 1|

8. Aig: | & &1 TS |
R ST If3: 31k ?
3. ARy aife: T |
P @1 98 STy |

V. IRy U3 SUwi - YIgH T JUF / HUISH Fe |
GECEECRL)

Q. AT oF: T URER TH + G =
. T STy yfaed =

3. AMINDT: U9 Wex A =
¥. T T2 GCH 303 T + TDTH =

(1x3=3)




w:-‘-(‘m-m

Vi, TR WY WENTTT WIETE qId | (Vimd=2)
AR MGOETENAT § TN HERS |

WER WEY T FOTNATETR |

NY: - TATEHER () (g™ (w)

IO R () ™ ¥ |

vin, e afdan wwrETs et v |

21 R v R oy Sy AT | oy A e A
o R e R R STy | i ae g EE - 3 e
m.&mmmm’nmmmmwwm

Farard aaged oemfl ¢ | SR R -

T wt gt chwafd wnfi 7R

nfydrmasoms s wpasive® o @

¥, TwATR IO | (1x2+2)
¢ P geftan & el

2w PP R R

an. gurfde fvera | (1x2ed)
v JurafRy ¢ A s e

2 R o oaw v O E g




- —

i ~

\w MINDHEHIGH SCHOOL, Kk ROAD, BENGALL KL
Peciodic Tesr:d 2023-2024

Subject: MathematicaStandard)

Class: IX May marks M
Date: 22 /11 20 Reading time: B to B | Gaum
No. of printed sides: 3 W riting time: 810 o 9 10am
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A—

Assertion: The class width for the grouped
frequency distribution of the class intervals 1-20,21-

40541'60, ....... iS 20.
Reason: Class width is the same as class mark.

|
a. Both assertion and reason are correct and reason
is the correct explanatlon for assertion

b. Both assertion and reason are correct and Reason
is not the correct explanation for Assertion.

c. Assertion is true but the reason is false.

d. Both assertion and reason are false.

Part B

—

If x-2a is the factor of x>-4a>x*+2x+2a+3, find a.

Find the area of an equilateral triangle whose
perimeter is 162cm

(use V3=1.73)

In the given figure, there is a histogram depicting
daily wages of workers in a factory. Construct

frequency distribution table.
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X 6x+3x+10

Part C

Fac
torise using factoy theorem.

If f(x)= x

____"—“_

X*-3X43x-4, then find fQ)H(2)+(0).
Find the area of shaded part.

_—_—-—-_—-—"—l—-

Part D D-

13.

Construct a histogram and the frequency polygon for
the following data.

Daily earrings

No. of shops

0-20

20-40

40-60

60-80

W[ |co|Un (W

80-100

Part E
Case study

14

- | 1) Find the aréa of the park.

The school principal gave a contract to a company to
plant grass in the park at the rate of Rs.4500 per m?.
The sides of a triangular park of the school are 100m,
100m and 120m, g
On the basis of above information answer the
following questions.

2) What is the height of the park? '~ .8

o =

3) Find the cost of grazing the whole park.
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517/ SINDHI HIGH SCHOOL, K.K. ROAD, BENGALURU.

Reading time: 8 to 8:10am
Writing time :8:10 to 9:10am

GENERAL INSTRUCTIONS

All questions are compulsory.

Part -

A consists of 6 mcgs carrying 1 mark each.

#  Part - B consist of 3 short answer questions carrying 2 marks each
Part - C consist of 3 short answer questions carrying 3 marks each

Part -

D consist of 1 questions carrying 5 marks

Part - E consists of one case study question carrying 1+2+1=4marks

S no. Part A Marks
8 is the polynomial of degree 1
1
a. 1 b. 2 c. 8 d.0
The width of the class interval 70.5 - 75.5 is 1
2
- a.5 b. 2.5 ¢. 0.5 d. 10
The semi perimeter of an equilateral triangle is 43cm.
3 The length of each side is 1
" |a.44cm  b.30cm ¢.35cm  d.40cm
The zeroes of f(x) = x*> +2x are
4. 1
a. 0,-2 b.1,2 ¢.0,2 d.1,-2
5. | An isosceles right triangle has area 8 square cm, the
length of its base is 1
a. 8cm b. 4cm ¢. 6em d. 5cm




. Axseition The class Interyal necds 1o be continuous I
while deawing & histogiam

Regspn: Histogram i@ rectangular diagram using
frequency distribution w hich s Jotned 1o one another,

a Both assertion and reason are correct and reason is
the correct eaplanation for assertion

b Hoth assertion and Feason are correct and reason is
wot the correct explanation for assertion.

¢ Assertion s true but the reason s false,
A Roth assertion and reason are false.

Parth

7. The class mark of particular class Is 6.5 and in 12
classe slze is X Write the next Y classes if they are
continuous.

8 If the area of an cquilateral triangle is 8113 12
square cm, find its side and its perimeter,

Forwhat value of mis (v * 1) the factor of

v Setrd o le A 10y m, :
Part C
" The perimeter of a triangular garden is 900 cm and ity
10, sides are in the ratio 2:5:4. Using Heron's formula A
find the area of the triangular garden.
oo px) = S Ay e ) evaluate f12) 1) < f(0) £

1.  Using factor theorem, factorise £ "+ 2 v% - x.2 3



13

14

Part D

Cost of living

| 140-150 15

|1 150- 160 5
160-170 6
170-180 2

L 180-190 20

1 Construct a frequency polygon for the above data \

\ | (Without constructing a histogram).

l Part E
' Case study

\ Two brothers Ashish and Amit wanted to start a
| business together. They decided to share their

| amount depending upon the variable expenditure.

' The amount of two partners is given by the expression
12x*+11x-15, which is the product of their individual \
' share factors. On the basis of above information \

1

answer the following questions.

terms of ‘x’

when x=Rs100

No. of weeks

In a city the we ckly observations made in a studyon |5 \
the cost of Ij lowi |
Ofliving index are given in the following table \

|

1) Find individual share factor of Ashish and Amit in \ 1

\

2) Find the total expenditure of Ashish and Amit \2

' 3) Find the value of ‘X’ if their shares are equal. \ 1

W
|
|

\
|
\\
\
|




Wﬁ‘% Sindhi High school K.K.Road, Bengaluru
L&J Periodic Test-3 (2023-24)

Social science

Class: 9 Marks: 30
Date:24.11.23 Reading Time:8.00-8.10
No. of sides:3 Writing time:8.10-9.10

The question paper consists of 14 questions.
Section A consists of 1-mark questions.
Section B consists of 2- mark questions.
Section C consists of 3-mark questions.

Section D consists of 5- mark questions

/ Section A

1. Which among the following is correct- 1

a. The rainfall in Rajasthan region was in plenty during the
colonial rule.

b. By October the Dhangars harvested their bajra and started
on their move west.

c. Not all pastoralist in India operated in the mountains as they
were able to be found in the Plateaus, Plains and deserts.

d. all the above.
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highest authority in the country.

2 Who among the following is the head of the state and is the ‘}ﬁ/

E

|
i
b. Prime Minister |

c. Ais true but R is false.

d. Ais false but R is True.

a. President
c. Governor d. Chief Minister
3 A. The Rajya Sabha is called the upper chamber. 1

R. The Rajya Sabha is more powerful than the Lok Sabha.
a. A and R is true but R is the correct explanation of A.

b. A and R are true but R is not the correct explanation of A.

4. The Bengal famine of 1943 killed people. |1 |
5, Thirty-one lakh b. Thirty lakh l
c. Thirty-two lakh c. Thirty-three lakhs | |

5. and recorded 11 |
significant production of rice.
a. Uttar Pradesh and Madhya Pradesh
b. West Bengal and Uttar Pradesh
. West Bengal and Madhya Pradesh

| | d. Punjab and Himachal |
|
6. I Which of the following crops is associated with the winter | 1

' rainfall-
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r A Wirise aboust the iffessve oF Gua= o aETE "
8 Lok Sabhe exercise TS ConTD owe The TDwMC 7 ThmSEE 2
infer
: Distinguish betwasn CThronc SungsT ane SE=S0T WM -
10. o hes Grverse CLUIMESC OODSMONS . SIDDOT OIS SEETEE 2
by giving SxEmpies, SACh O IEINSTEIrT ERE X ITSCINITENL
Sacmon £
11 Highlight the significance of paTiameaT M 2 IEMaEak 2
12. Explain the dimensions oF ~oaz s2C -t 3
Sacoon O
' 13. Trace the movemant oF oastoral Nomass oF The PEsas <
syras oF ohe South ISt TROTSOn <

Explain the distinctive fe3




b SINDHI HIGH SCHOOL., K K ROAD, BANGALORE
pHCH g, THIRD PERIODIC TEST (2023-2024)
9 SUBJECT- SCIENCE

FROM DARKNESS UNTO LIGHT

Class: IX Max marks: 30
Date: 29.11.2023 Timings: 8:00 am to 9:10 am
No. of sides: 2 Reading Time: 8:00 am to 8:10 am

Writing Time: 8:10 am to 9:10 am

GENERAL INSTRUCTIONS:

(i) All questions are compulsory.

(ii) Section A- All question numbers 1 to 6 carrying one-mark comprises of MCQand
the Assertion — Reason type questions.

(iii) Section B- Question numbers 7 to nswer type question ing 3-
marks each. 9 are shorta ype q s, carrying 3

(iv) Section C- Question numbers 10 to 12, | swer type questions ]
marks each. » long an ype q carrying 5

S Questions Marks
No '
Section A
Choose the correct answer
1 A students carries a bag weighing 5 kg from the ground floor to his class on | |
the first floor that is 2 m high. The work done by the boy is
(a) 1]
(b) 10J
(c) 1007J
(d) 1000 J
2 An element X is divalent and another element Y is tetravalent. The 1
compound formed by these two elements will be:
(a) XY
(b) XY,
(c) XoY
(d) XY,
3 Choose the macronutrients from the given option. l

(a) Calcium, sulphur and zinc

(b) Nitrogen, phosphorus and potassium
(c) Calcium, magnesium and copper
(d) Nitrogen, iron and chlorine

NOTE: In the following questions 4-6, a statement of Assertion is
followed by a statement of Reasoning. Choose the correct answer from

the following options.
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a) Both assertion and reason aré correct statements, and reason is the

correct explanation for assertion:
b) Both assertion and reason are correct statements but reason is not f

the correct explanation for assertion
¢) Assertion is correct but reason is the wrong statement.

d) Assertion_iiﬂ,.Lolm_,tgliﬁ’ﬁﬂ'isfthe correct statement.

negative.

Reason: Work done de ends on an le between force and displacement.

l
- i
Assertion: When the force retards the motion of a body, the work done is '} |

Assertion: Molecular weight of oxygen is 16.

Reason: AW |
| .

Assertion: Wheat is 2 Rabi crop- |
Reason: Wheat is com Jetely grown 1 the month of june to October.

Section B

A body of mass 4kg initially at rest 1S subjected to a force of 16 N. What is 3
the kinetic energy ac uired by the body at the end of 10 §? B

(a) Write the chemical formulae of the following. 3

(i) Calcium oxide
(i) Aluminium chlonde
(b) Calculate the formula unit mass of

=139y, C=12, and 0 =16 u.
s of the combining elements in C,H,OH. |

K.CO,, given the atomic masses of K

(c) Find the ratio by mas
(a) “Shorter the duration of the crop from sowing to harvesting, the more 1 3

economical is the variety”. Justify.
(b) Differentiate between comgosnnu_@nd vermicomposting.

Section C 1
; —

10

(a) A force of 7 N acts on an object. The displacement is, say 8 m, in the '3 !
direction of the force. Let us take it that the force acts on the object through w

the displacement. What is the work done in this case ?

(b) When an arrow i shot from its bow, it has kinetic energy. From where

does it get the kinetic energy ”
(c) What are the factors on which the W ork done depends?

(d) Derive an expression for kinetic energy of a body having mass m and |

moving with a velocity V.

(a) Give two drawbacks of Dalton’s atomic theory. !

(b) Define the atomic mass unit.
(c) What are polva!omic ions 7 Give two examples. o=

(a) Explain about organic farming.
(b) Excess use of fertilizers 18 detrimental for the environment Give reason.

(¢) What are the two desirable agronomic charactenstics for crop
improvement?




